6.R1 (With 6.5 Sol'ns) (Fall 2016)-f16.notebook December 8, 2016

Before we begin, are there any questions from last day's work?
READ p. 307 Example 2 Width of a Path
pp- 313-314 #18, 19, 21, 22
Enrichment: pp. 452-453 #22, 30

Today's Learning Goal(s):

By the end of the class, | will be able to:

a) consolidate understanding of quadratic relations and equations
and be prepared for the Unit 6 Summative.

Today’s practice:

Remember: to find the roots means to solve for the x-intercepts.

To solve for the x-intercepts, ALWAYS try to factor the equation first,
before trying the Quadratic Formula.

pp- 318-319 #1b, 2, 4bd, 5abd, 6acfg, 8, 9a, 13, 16*no rounding, 17

p. 317 #13
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or using the formula:
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Attachments

Q  PopGoestheWeasel.mid





Pop Goes the Weasel 

Copyright (C) 1990  

Voyetra Technologies

Melody              

Bass                

Chords              

Bass Drum           

Snare Drum          
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